THEEEEEE 1 OXF6HICE D, HEFXITHFEICE D (REORERR
TIEEEHEEERE 2 1 RITE D, XEOBFRERICET HFHOAK

1. ZHBEDERAEZIE (48 1 BRHE) (AN)
H28 H29 H30 H31 R2 R3
5 0 4 1 3 3 3
=z 3 4 5 4 3 1
it 3 8 6 7 6 4
ZHEDEIE 100. 0% 50. 0% 83. 3% 57. 1% 50. 0% 25. 0%
2. XEBENEIS (48 1B8BRE) (AN)
H28 H29 H30 H31 R2 R3
5 1 67 67 67 66 69
=z 46 48 52 51 53 49
it 117 115 119 118 119 118
ZHEDEE 39. 3% 41. 7% 43. 7% 43. 2% 44. 5% 41. 5%
3. REBEEOBEXZABESR (481 B8ERHE) (A)
B H28 H29 H30 H31 R2 R3
3E 13 13 13 13 14 14
Bt ®RE 23 25 25 25 27 23
=] 35 29 29 29 25 32
3E 2 2 2 2 1 1
=i ®RE 10 9 9 8 8 8
=] 34 37 41 41 44 40
3E 15 15 15 15 15 15
Hi ®RE 33 34 34 33 35 31
%8 69 66 70 70 69 72
FE 13. 3% 13. 3% 13. 3% 13. 3% 6. 7% 6. 7%
THEDEE ®RE 30. 3% 26. 5% 26. 5% 24. 2% 22. 9% 25. 8%
%8 49. 3% 56. 1% 58. 6% 58. 6% 63. 8% 55. 6%
4. 1 AHEYDEBHFEDOIKR (A HFEH) (B
H28 H29 H30 H31 R2 R3
B4 32.15 34.25 32. 30 31.95 24. 77 28.07
% 15. 47 15.22 16. 30 16. 33 12. 81 10. 78
&t 25. 51 26.27 26. 28 24.78 19. 30 20. 39
5. FREHXRKRBRIVFORRE (CEHERGFHEE) (H)
H28 H29 H30 H31 R2 R3
B4 4.1 3.5 4.5 4.5 5.8 5.2
% 4.3 5.3 5.5 5.7 8.6 7.0
i 4.2 4.2 4.9 5.0 7.0 6.0
6. BRAEQRFIKR
H28 H29 H30 H31 R2 R3
BREE 0 0 0 0 0 0
& i HNRE 3 4 2 3 3 4
IREE 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
FEHERF AR 0 0 0 0 0 0
BRiEE 2 6 3 2 3 4
£tk NEE 2 6 3 3 3 4
REER 100. 0% 100. 0% 100. 0% 66. 7% 100. 0% 100. 0%
FEHEG A




7. FECiBE HE AR R

H28 29 H30 i3] R2 R3
WEE 2 3 2 1 i 4
MNERE 3 4 2 3 1 4
WEE 66. 7% 75.0% __ 100. 0% 33.3% __ 100.0% __ 100.0%
WEBX 2.5 3.5 3.5 3 i 5
FHmER K 1.25 117 175 3.00 1.00 125




